V=0l ZelthH=0

Class Objective:
I'll be able to learn the grammar: V-=0| Z2|CHEC.
Introduction:
This expression is is added to the end of verbs to express how much money, time, or effort is
involved in doing a task.
This expression corresponds to ‘takes/ requires/costs ... to (do) in English.
Sentence pattern for using this grammar will be:

e Adding -= Ol Z¢|CHECt to the verb stems.

e ~= [l Z2IC}is used when expressing an amount of time required
e ~= Ol =L} is used when expressing an amount of money required

Concept A: V-= O Z2ICt (is used for time)

- V-= Ol Z2ICtis used when expressing an amount of time required.

- When describing “0l” this way, the speaker can indicate that it takes a certain amount of time (or
resources) to complete an action.

- The action that is being done is placed before ~= U, and the time (or resources) it requires is
placed after ~= dl.

Conjugation :
IJICH+ -=0l -—— 2t

&l — si=0

*US0 - HE=0

IS
nio

Ct &= Ol = how long it took to “eat all of the food” (E}2 Ct &=CF)

B2 CF Y= Ol 8 Al2F 2R R - 1t took an hour to eat all the food.
GIOINA = Ol Al2H0] &0l 2 H L - It took a long time for me to come here.

S22 0= 0l AlI2H0] 9 OIZH 22 224 27? - Why is it taking so long to open the door?

Concept B: V-= Ol =C! (is used for money)

V=g

=Lt is mostly used when expressing an amount of money required.

- When describing “0l” this way, the speaker can indicate that it takes a certain amount of time (or
resources) to complete an action.
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